Fourth Annual College Greek Exam (2012)

TIME: 50 MINUTES DO NOT USE A DICTIONARY
Write YOUR NAME at the top left-hand portion of your answer sheet. Write YOUR LAST NAME FIRST.
Be sure to FILL IN THE BUBBLES under your name. DO NOT change the identification number on the
sheet or add any additional information.

Mark the correct choice ON YOUR ANSWER SHEET. There is only one correct answer/choice for each
question. Choose the BEST POSSIBLE ANSWER.

1. The form of the definite article that agrees with untooc is
a.o C. TAC

b. 10 d. g

2. elAov serves as a tense of what verb?

a. algéw C. 004w

b. el d. Aéyw

3. The form which agrees with (modifies) Ppvoewc is

a. TOVNEWS C. TTOVNOAG

b. movnpov d. movnowv

4. Which of the following gives the command “Laugh!”

a. yeAag C. YéAaoov

b. yeAw d. yeAdoaoOar

5. The form petvat is a(n)

a. aorist infinitive c. plural noun

b. present infinitive d. feminine participle

6. Choose the pronoun that fits correctly into this sentence: T dwoa ETLEUTIONEV
KA V.

a.o c. 1)

b. 6¢ d. &

7. The sentence pavOdvopev 6TL 1) AvAyKn dExeL TV avOewTwy is virtually
equivalent to:

a. 0l OV AVOEWTOLG HAVOAVELY.

b. del Nuac dwdokev Tovg dvOewToLG.

C. LAVOAVOUEV TNV AVAYKNV AOXELV TV AVOQWTIWV.

d. pavOaver 1) avdykn fUag apyxeLy Twv avOQwwy.



8. Which verb has the appropriate accent over the correct syllable?
a. eyeAwpev c. &ynAopev
b. yeAwpev d. éyeAwpev

9. What is the tense of didaoKkOpeOA?
a. perfect c. future
b. aorist d. present

10. The underlined words in ot otoatiwTaL EDEQOV TAG EMOTOAXS Katl ETQEXOV €Ig TV
TtoAwv can be replaced by:

a. pégovrteg c. pegopévag

b. ¢péperv d. pegovoag

11. Making the person of épiAet plural yields the form
a. prAovot c. épLAovuev
b. épidovv d. épAov

12. The tense of t(Onotis
a. present C. aorist
b. imperfect d. perfect

13. The superlative degree of the adverb movnacg is:
a. WG MOVNQEOG C. WG TIOVNQOTATOG
b. movnedTegov d. movnedtata

14. The dative plural of faoiAevg is
a. BaoAéwv c. PactAet
b. BaoiAéwg d. BaoiAevowv

15. Choose the imperfect tense that corresponds to faAAovotv:
a. é¢parov c. £BaAAov
b. BaAovov d. ¢paAAovto

16. ol yapovvtec become
a. clowns c. the essence of being
b. letters of the alphabet d. husbands

17. Fill in the blank: 6 ‘HpakAng éoti BeAticov
a. 0 Ilepoevg c. o0 ITepoéwg
b. at AGnvat d. toigc ABnvaiolg




18. Which prose writer explained the history of the wars between Greeks and Persians?
a. AQLototéAng c. ®ovkvdidng
b. Hpodotog d. Eevopwv

19. The adjective that agrees with the noun aopxwv is
a. ELOALUOVWV c. a&lwv
b. evdaipwyv d. a&ov

20. The case of Nuiv is
a. nominative c. dative

b. genitive d. accusative

21. The tense and mood of mepAniéval are

a. perfect imperative c. pluperfect indicative

b. perfect infinitive d. perfect indicative

22. Choose the correct adjective to complete this sentence: fAémopev g
YUVALKAG.

a. aAnOnc C. TIAVTAG

b. 10Ug d. tavtac

23. Where did the Spartans fight a famous battle?
a. Muknvat c. OeppomvAaL
b. Mapabwv d. ©npat

24. Which phrase expresses the underlined words? We blocked the pass with (by means

of) our bodies.
a. T oWUATL ¢. OO TOV CWHATWYV
b. toic cwpaot d. &ano twv cwpdtwv

25. The present middle participle that corresponds to the aorist active participle
TMElOAVTEG 1S

a. TELOAEVOL c. tetBopevol

b. melBovteg d. runtépevol

26. Choose the noun that fits correctly into this sentence: o0 xonuata didopev
KOKALG.

a. avoot c. Yuvaukl

b. avdoaot d. yvvaui&t



27. Choose the best translation for 0 ToU €keivov TOU (MMOL CWHATOG EIDOC KAAOV.
a. It’s a fine thing to see that man’s horse.

b. The appearance of that horse’s body is beautiful.

c. That man has a horse with a handsome appearance.

d. The beautiful appearance belongs to the horse.

28. The English adjective pathetic derives from the third principal part of the verb
a. MAOXW C. TEUTW

b. melBw d. mintw

29. 0VOéva is a form of which word?

a. 006¢ c. oUTOg

b. avtdc d. ovdelg

30. Choose the correct noun to complete this sentence: Tt Tov k6opov ___ aAnoOn
£oTLv.

a. yovn c. eEATidx

b. eion d. 0d6¢

Answer questions 31-40 based on the passage below. In his essay On the Education of Children
(ITeot maidwv dywyng, 9b-c), Plutarch discusses how much effort fathers should use when
pushing their children to excel.

1 TIATEQEG TIVEG OTIELDOVTEG TOVG TALOAG TAXEWS TEWTEVLTAL TTOVOUG
2 avTOLS UTEQUETQEOVG ETIBAAAOLVOLY, OIC ATIAVOWVTES EKTIITOVOL
3 Kal Baguvopevol Taig kakomalelalg xaAemwe déxovTaL TV

4 HAONOLV. OTEQ YAQ Tt PUTA TOIC UEV HETQLOG VOAOL TRédeTal,
5 tol¢ O¢ MOAAOIS TTATXEL, 0UTWG Kal 1) PuxT) TOIS UEV CUUUETQOLS
6 av&etal ovolg, tolg &' vTtepPaAAovat BamtiCetal del OOV TOIG

7 TIALOLV AVATIVOT|V TWV TTOVWV ddOvaL.

avarvor] —Ng 1) pause (lit. a “breather”) nalg, madog O child

anavddw fail at (+dat.) ntdvog —ov 0 hard work

avfouat increase MEwTeVw be first

BantiCopat drown, overwhelm omeLdw be eager

BaoUvw weigh down, depress, oppress OUULLETEOG —OV proportionate

exmiitrto fall off, decline VOwWQ, VOATOg TG water

EMBAAAw lay on, impose vTeEPAAAW surpass, exceed

KakomaOela —ag 1) distress UTTEQLETQOC —OV excessive

uabnois, uabnoewg 1) lesson ¢$utov —ov 10 plant

HETOLOG —x —OV average, moderate woTieQ just as



YOU MAY SEPARATE THIS PAGE FROM THE REST OF THE TEST IN ORDER TO
CONSULT THE READING PASSAGE MORE EASILY.

31. The mood of mpwtevoat (line 1) is
a. infinitive c. participle
b. indicative d. imperative

32. In line 2, oig refers to what noun or pronoun (i.e., what is its antecedent)?
a. matépeg (line 1) c. movoug (line 1)
b. madag (line 1) d. avtoig (line 2)

33. In lines 1-2, why do some fathers treat their children as they do?
a. Their children are eager to be first.

b. The children throw pains on their fathers.

c. The fathers are eager for their children to excel.

d. The fathers believe their children suffer too much pain.

34. Lines 2-4 (oic...pn&0Onow) suggest children do not like their lessons because
a. They are stressed out.

b. The lessons move too quickly.

c. They are not physically fit enough to lift their heavy burdens.

d. Their teachers do not introduce the lessons nicely.

35. The word which moAAoig (in line 5) agrees with (modifies) is
a. puta (line 4) ¢. oUtwg (line 5)
b. Vdaot (line 4) d. movoig (line 6)

36. According to lines 4-5 (womeQ... taoxel) we learn that
a. Plants thrive on a moderate amount of water.

b. Plants can nourish only so much water.

c. Many plants suffer when nourished with water.

d. Many plants suffer when children grow them.

37. The word UmepPaAAovot (line 6) is

a. aninfinitive complementary with BantiCetat
b. an infinitive complementary with av&etat

c. apresent active verb in the third-person plural
d. a participle in the dative case



38. What case and number is mtawotv (line 7)?
a. nominative singular

b. dative plural

c. accusative singular

d. nominative plural

39. The word dwdovatl (line 7) is

a. an infinitive complementary with det (line 6)
b. an adjective modifying mauotv (line 7)

c. the subject (nominative) of the sentence

d. a participle in the nominative case

40. In lines 5-7 (0Utwg ... ddovar), Plutarch concludes that

a. Children should pause to receive gifts when they are overwhelmed.
b. Children will surpass their peers in order to take a break.

c. Children should be pushed moderately in their lessons.

d. Growing a plant helps children rest from pain.

TEAOX
(The End)



